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2M: R

HE: AT (LNBDHY /L)

& 232l (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
O zEIESH 22 & HHI(HA, 251}
70,000& x40 x2H 5,600
S2EFS 47,850 231,250 A 183,400
201 gBt24y| 7,850 7,850 0
01 AP 2t 2| H| 7,850 7,850 0
O 23&ENHID SAE4H 550,000& x12& 6,600
O &XEHD F¢ 2503 x5, 000& 1,250
405 XHA&HF S HI 40,000 223,400 A 183,400
01 JHML = EFSH| 40,000 223,400 A 183,400
O AME2oX Y 250,000 =24 6,000
O BEHIIZANE =ZH2ACIASE A AIRA EDI&E
2 16,000,000& 16,000
O &AXEAI 2L 5,000,000 «3CH 15,000
O 3218387 7Y 1,500, 000 x2CH 3,000
=EEEE 22 1,500 1,500 0
201 gBt24d| 1,500 1,500 0
01 AR 22| H| 1,500 1,500 0
O E22Z 12 T2 (2HE) A2
100,000& *53] 500
O 28238 HIl =2 1,000, 000& 1,000
MY XN (Ldetz22s ™ /1L - WEXR) 110,445 103,926 6,519
SH=SE 110,445 103,926 6,519
He Y FHESS 67,495 60,976 6,519
201 gBt24y| 52,575 45,216 7,359
01 AP 2t 2| H| 46,800 45 216 1,584
O S&eZAN g2t 100,000& 100 10,000
O SEHAAA () &2t 100, 000& 6 600
O MW~ E & SHARE &2t
50,000& =40 2,000
O 3HUHA E=AHSAN M= 4,000 x5008 2,000
O HYHE2d g2raE & gy 2
200,000 23 23| 800
O 288 ¢ JI2388X 2
20,000& x2& 128 480
O =<3 L2HAEE(G2B) Ol22 4,050
- AMEZAH Jlzs2d9 2,450
& 0H O] et 5,000& x50A 250
1Z2H2 014 ~ 1912 Dl
10,000 x 1004 1,000
192 0] 4t 20,000& 6024 1,200
- S50 & 2erEd 1,600
5008t ~ 3AOHRA 10,0002 x10024 1,000
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2M: R

HM: WE X2 (LSS /NLHEE - HWEXH)

& FA2E CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
3O 0l 4 20,000& x30A 600
O ZUYRBE ST WA
8,000 x3H x50 1,200
O e o SN2 S2X A Y|
8,000 x6H 402! 1,920
O gLXNEFLHel E2A &
8,000 x6H 402! 1,920
O 2MEE X7 500& *2,500% 1,250
O Jotzel o HAMA T2IY SIS
743,000& 123 8,916
O StAHZ AL Xtsetl 2el Z28 |sXEx
420,000 123 5,040
O HLFEANAEH Z20Y8 RAUES
420,000& 123 5,040
O MgHME MEEE SHAILAE X E=H|
132,000+ 128 1,584
02 =224l 5,775 0 5,775
O A2z T2 M (WY)2SE2E=
35,0003 x165H 5,775
202 Odl 8,120 8,120 0
01 = LH 4 Hi 8,120 8,120 0
O Hotele M8 2432 HEHY
70,0003 »2H +7L 980
O =2 FMH=SS MEINA A
70,0003 »2H x4 560
O XNLHEHY S+ 70,0003 x2F 8 1,120
O HAMAI AADIIEHZE U
70,000 »2H x4 560
O A2 RE 83 &4
70,0002 »3H x4 840
O HEE NEHAYE =lu=s T4
70,0002 »4H x4 1,120
OJl=89 HEME MoIL &4
70,0002 »3H x4 840
O NEBSRIALZFYESHUXNE u=
70,000 »2H »3 420
O Z0%Y T2y ] HA
70,0002 »2H +x3 420
O =tl(dbrain) AL & FM4Z28 1)
= 0,000& »2H 32 420
O g 8= XM 70,000& 12 840
207 RO 5,000 5,000 0
01 A7 39H] 5,000 5,000 0
OZA- Y JAJHFE & S)HHsS 2E 2Y
=l 1,250,000& x4 A 5,000
301 LA F 1,200 2,040 A B840




2M: R

HM: WE X2 (LSS /NLHEE - HWEXH)

Sl ENEY (298 R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
12243 1,200 1,200 0
O ZAAARA AHIEA 20,0002 «4H«15L 1,200
307 21201 A 600 600 0
12 QIO &= H| 600 600 0
O Z&HALE ikt W=EHl 150,000 4H 600
SAR) AN 2¢ 15,950 15,950 0
201 et 14,200 14,200 0
01 At 22l 14,200 14,200 0
O SENMREILAN ZE 89 13,000, 000& 13,000
O MRBEIM JII=XNZEHE S22 014l
8,000& 50 400
O SAR)| BUAS ST A
8,000& »2H +x50 800
202 O4dl 1,750 1,750 0
01 = LH 4 Hi 1,750 1,750 0
O NLYXXSH WA HREE A&s &
& 70,0003 »2H +x9 1,260
O XNETBZAIAAY T2 D
70,0003 »7 490
T HANHHRFA 27,000 27,000 0
203 YR =&l 27,000 27,000 0
03 AIHZ=XH R =ZH| 27,000 27,000 0
O B2 AIMHRFAH]| 27,000,000& 27,000
HHE2HZHI () (JIEH/IIEL) 91,700 88,580 3,120
JlE &3l 91,700 88,580 3,120
JlE&l 91,700 88,580 3,120
201 L2l 23,720 22,520 1,200
01 At 22l 23,720 22,520 1,200
O Z2N2g8 B9 50,000 x28H «12& 16,800
OVE,EAN #=2 10,000& 165 128 1,920
O 24 29| 5,000,000& 5,000
202 o4dl 26,880 24,960 1,920
01 = LH o4 1l 26,880 24,960 1,920
O zgstd £ Jl=de =Xy
80,000 x28H x12& 26,880
203 R =&t 41,100 41,100 0
01 1228 =8 36,300 36,300 0
OJZ2gdeFAH(R2=) 36,300,000 36,300
04 EA2IYRFLH| 4,800 4,800 0
O 2A2HIRFEHI 400,000& 123 4,800
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